Montage Grundrahmen (GRU) / Mounting base frame (GRU)

1 Grundrahmen / Base frame

2 Schraube M8x16 / Screw M8x16

3 Mutter M8 / Nut M8

4 Schraube 4,8x22 mit Scheibe / Screw 4,8x22 with pressed washer
5 Schraube 4,2x16 / Screw 4,2x16

Get In Touch Our Address

@ Call: 0845 6880112 Puravent, Adremit Limited, Unit 5a, Commercial Yard,



tel:08456880112

